X D £4 —“fAOHE 1
—AIEOAEE 1 B R 105
NO. 1 £ i ST

1 ZAEROIODDAEDMERDFTL £5,
@ ©

+ 4+ = ° + [+ | = °

2 |E=AFEO 3 >OMEOTERDEL X 9,

-

# 7 + o+ =P

3| T OAEEFHETROEL X D,
@ @
80 ° A

70 ° 35 ° 40

55 °

RO 2 5528 UL
http://drill. para—gallery. com/ 1



[T 0> 4 JiE

/T‘ S
Kz
1
O 7 A y

60 90 40| = 180
@ 7 A 1y

90 45 45| =1 180
2 7 A iy

60 60 60| = 180
3
D 180 ( 80 + 70)
®) 180 ( 35 + 40)
©) 180 ( 55 + 90)
@ 180 ( 120 + 35)

HECHEZLLFE UL

http://drill. para—gallery. com/

30

105

35

25

“HAEOMAE 1



